1. A relation contains the ordered pairs (3, 8), (6, 10), (9, 12), and (a, b). For which
values of a and b is the relation a function?

A.a=3and b =14
B.a=6andb =12
C.a=9andb=9

D.a=11and b =8

2. Which relation below is a function?
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3. The graph below displays a relation between x and vy.
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This relation does NOT define y as a function of x because

A. the relation is not linear.

B. points (2, 2) and (3, 2) have the same y-value.

C. points (3, 2) and (3, 3) have the same x-value.

D. several points have equal x- and y-values.

4. In which set of ordered pairs, (X, y), isy NOT a function of x?

A. {4 3. G 9}

B. {4 3. (7. 3}

C. {(7. 9. 4. 7. & 3}



D. {(7. 7. 4. 9. (3. 3%}

5. In which set of ordered pairs, &3, is yNOT a function of x?
A. {01940}
B. {(1.4.(6. 9}
C. {(6.1001.6019}

D. {(6.6). (1. 1). (4. 9}

6. The ordered pairs 3 define the relation Q.

(4.9.(-3.2.6.5.Q. 3}
Is Q a function?

A. Yes, because there is exactly one x-value for every y-value.
B. Yes, because there is exactly one y-value for every x-value.
C. No, because there is more than one x-value for some y-values.

D. No, because there is more than one y-value for every x-value.

7. In which set of ordered pairs, (X, y), is yYNOT a function of x?

A. {(7.10). (10. I}



B. {(7.10). (5. 100}

C. {(5.7).(7.5).(7. 100}

D. {(5.5.(7. 7. (10, 10)}

8. Which relation of x and y is a function?

A. xy
0-2
1-3
0-4
2-5

B. xy
02
13
04
25

C. xy
00
11
08
227

00
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32
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9. The following ordered pairs (X, y) define the relation Q. Is Q a function?

(3, 2,03 10,02 2.0, 3

A. Yes, because there is exactly one x-value for every y-value.

B. Yes, because there is exactly one y-value for every x-value.

C. No, because there is more than one x-value for some y-values.

D. No, because there is more than one y-value for every x-value.

10.The following ordered pairs &) define the relation Q. Is Q a function?

{22,030, (220 3

A. Yes, because there is exactly one x-value for every y-value.

B. Yes, because there is exactly one y-value for every x-value.

C. No, because there is more than one x-value for some y-values.

D. No, because there is more than one y-value for every x-value.

11.Which ordered pair ¢ makes the relation a function?

{34, (26,3 3.4 6,



12.Which ordered pair (X, y) makes the relation below a function?

{00, 0, (2,3, (2,20, (4.3, (x. ¥}

C. 2o

D. 4 0

13.The following ordered pairs &) define the relation Q.

(0,30 L4.(3.3.(4 1D}
Which sentence tells whether Q is a function and explains why or why not?

A. Yes, because there is exactly one y-value for every x-value.

B. Yes, because there is exactly one x-value for every y-value.



C. No, because there is more than one y-value for some x-values.

D. No, because there is more than one x-value for some y-values.

14.Which relation below is NOT a function?

A. Domain Range
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15.Which ordered pair (X, y) makes the relation below a function?

0L 2 (24, (3,3, (4, 4, (x. v}

C. 32

D. 5.1

16.The ordered pairs =2 define the relation Q. Is Q a function?

{2 10,634, (1, 1.4 — 3

A. Yes, because there is exactly one y-value for every x-value.

B. Yes, because there is exactly one x-value for every y-value.

C. No, because there is more than one x-value for some y-values.

D. No, because there is more than one y-value for every x-value.

17.Which ordered pair ) makes this relation a function?

{5,060, (2.8, (7. 70— 4,8, &,



A (39

D. .9

18.Which ordered pair &3 makes this relation a function?

{2,300 25,4, 4.0 4,3, &, 00

A (41
B. ¢ 1. 1
C.c2r 1
D. 2 1

19.Which of the following sets of ordered pairs is a function?

A. {(0.3).(0. 2. (0. 3}

B. {(1.0).(2 0.3 0}

C.{t 0.0 20.( 3

D. {C 5 9.5 2.0 50



20.The following ordered pairs (X, y) define the relation Q. Is Q a function?

{200 L2, 0.2 1}
A. Yes, because there is exactly one y-value for every x-value.
B. Yes, because there is exactly one x-value for every y-value.
C. No, because there is more than one x-value for some y-values.

D. No, because there is more than one y-value for every x-value.

21.Which relation is a function?
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22.The following ordered pairs ) define the relation Q.

0= {0 L4.0 23.4.4.2. 2}
Is Q a function?

A. Yes, because there is exactly one y-value for every x-value.
B. Yes, because there is exactly one x-value for every y-value.
C. No, because there is more than one x-value for some y-values.

D. No, because there is more than one y-value for every x-value.

23.Which ordered pair (x, y) could NOT be substituted in the relation below so that the
relation is a function?

106, T (2, 09,08 8), (4,9, (x, )}



24.The following ordered pairs (X, y) define the relation Q. Is Q a function?

(02000 L1000 (1 1}

A. Yes, because there is exactly one x-value for every y-value.

B. Yes, because there is exactly one y-value for every x-value.

C. No, because there is more than one x-value for some y-values.

D. No, because there is more than one y-value for every x-value.

25.Which ordered pair (x, y) could be substituted in the relation so that the relation is a
function?

{43, (2706 6.0 4, 7TL{x »}
A. (43

B. ¢ 3.0



26.Which of the following does NOT represent a function of x ?

A X1 Y
-4 2
01-3
212

4 1-3

B. X1
-1 |-6

1 [-6

3| 4

6| 7
C..x|v
-11] 3

-1 15

21 6

31 4

D, x>y
-11] 2

2l 5

3 4
41-3

27.Which value of k will allow the following set of ordered pairs to represent a
function?

{(3, 7). (2, 8), (£, 8). (1, 3}



28.Which of the following sets of ordered pairs represents a function?

A. {0, 0), (0, 1. (0. 2). (0, 3}

B. {000, 10,01 1,40

C. {(0,2. (1,2, (2. ), (3, D}

D. {1203, 4.1 4, (3. 0}

29.Which of the following relations does NOT represent a function of x?

A _x |y
0 I
1 2
2 1
3 2

B._* | Y
I 5
2 5
3 5
4 5

C._x |
I 3
5 3
5 <
7 4



30. Which of the following relations is a function?

A.




31.Which of the following relations is NOT a function?

A. {00, 1,01, 1,02, 10, (3, 10}

B. {0, 100, 2). 00, 3). (0, 4}

C. {(0,0).(3,4).(5,6).(3, 9}

D. {0, 0.2, 2).04. 4). (6. 6)}



32.Which ordered pair can be substituted for &) to ensure that the relation
103,00, (1, 4, (3,9, (2, 8), {x, ¥)} is a function?

A. (0, 0)
B. (1, 5)
C.(2,7)

D. (3, 3)

33.Which chart represents a function?

Al x|y
0] 0

1 |-
11

4 | 2

B.| x|y
2 6
4|10

6 | 14

8 | 18
C.lx|y
2| 2
2|-3

2

3|-3
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34.Which of the following charts represents a function?

A.
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35.The sets of ordered pairs below represent relations.

36.

I {(0,0), (1, 1), (2,2), (3, 3), (4 4)}
Il {1, 2),(2 1), (,3), 0, 1), (3, 1)}
I {0, 2), (1, 2), (2, 4), (3, 4), (3, 6)}
IV {(1, 6), (2, 6), (3, 6), (4, 6), (5, 6)}

Which of these sets are also functions?
A. | only

B. land IV

C. lland IlI

D. II, lll, and IV

Which ordered pair is a solution to the function



B. (-4,3)
C. (3,-5)
D. (3,-4)

37.Mary earns $7.25 an hour. She can determine her salary, s, for the number of
hours she works, h, by using the equation s = 7.25h. Which statement explains why
s is a function of h?

A. For every value of h there is only one value of s.

B. For some values of h there is more than one value of s.

C. For some values of s there is more than one value of h.

D. For every value of s there are two values of h.

38. A linear function is graphed on the coordinate plane below.
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Which output value is associated with the input value of 4?

A 1
B. 15
C. 2
D. 9

39.The relation shown is not a function.
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Which point should be removed to make the relation a function?

A. Point A
B. PointB
C. PointC
D. PointD

40.Which relation could also represent a function?
A. {(3,4),(0,1),(-1,-2),(-2,-1), (0, - 1)}

B. y=x+3



=10

41.Which of the following relations is a function?
A {(-1,-4),(-1,0),((-1,5),(-1,7),(-1,9)}
B. {(-2,-4),(-1,7),(1,-1),(1,1), (3,9)}
C. {(-4,9),(-3,1),(-2,3),(-2,12), (0, 6)}

D. {(0,-4),(1,-4),(2,4), (3, 4), 4, -4)}



42.Which table represents a function?

A x y
2 8

6 4

10 | -14

2 | -8

B x y
12 | 20

10 | 14

12 | 18

4 8

C x y
14 | -24

8 | -18

4 | 18

10 | 10

D x y
12 | 18

—15 9

18 | 10

-15 | 15

43.Which statement is true of table A and table B shown below?



TABLE A TABLE B

* y * y
2 2 ] 3
4 6 12 3
B a8 15 3
2 4 18 3

A. Table A represents a function because there is only one output for each input
value.

B. Table B represents a function because there is only one output for each input
value.

C. Table A represents a function because there is only one input for each output
value.

D. Table B represents a function because there is only one input for each output
value.

44.\Which of the equations shown below represents a function?

: =x2+2x+9
Equation 1 : d

: =9-y?
Equation 2 : * d

A. Only 1



B. Only 2

C.Both1and?2

D. Neither 1 nor 2

45.Which set of ordered pairs does NOT represent a function?

A {(1,2).(1,3.(1,4)}

B. 1(2.3).(3.3).(4,3)}
c. 1(2.2).(3,3).(4, 4)}

D, 1(0.0).(1,3).(2,6)}

46.Sarah has been keeping track of how many hours she practices basketball each
week and thinks that the percentage of free throws she makes during practice
improves the more she practices. To check this, she makes a graph comparing the
number of hours she practices each week with the percentage of free throws she
makes each week. Based on what she learned in her Algebra class, she realizes
that her graph represents a function. Which of these could be Sarah’s graph?
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47.Which sets of ordered pairs below describe a function?

I 1(2,3). (2, 4)}
I {(0.2). (0, 3)}
I” {EB,D.BLE_B,DE}}

IV. {(—2, 2:'.- EE, _E:I}

A. land Il
B. Il and Il
C. llland IV
D. IVand |

(2,11),(3,14), (4, 17), (5,20)?

48.\Which function would also include the ordered pairs and
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A'yzli;:

B. ¥=—2.7

C.._|x"1lx<0
x+1l, x=20

D. y=4x-3

50.viola graphed the function ) =3x 12 on a coordinate plane. Which statement

about this graph is true of all functions?

A. Itis a linear graph.



B. It has a positive correlation.

C. It assigns a specific input to each output.

D. It assigns a unique output to each input.

51.Which of these relations is NOT a function?

A R=1(0,0).(2,8). (-4, —12), (-5, —15)}
B. R=1(-2.2).(2, -2).(-4,4). (4, -4)}
Cc. R=1(4.5).(4,8),(5,10),(6,12)}

D. R ={(2.3).(4.3). (6, 3).(5, 3]}

52.The Juice Cafe posted the sign below showing the prices of smoothies of various
sizes.

SMOOTHIE PRICES

Size Price
8 ounce $2.29
12 ounce $2.79
12 ounce $3.09
16 ounce $3.69
20 ounce 34.09
22 ou nce $4.09
(bonus size)




Which change would make the price of smoothies a function of the size?

A. change the smoothie prices so that each interval between prices is $0.50

B. change the first 12-ounce smoothie to a 10-ounce smoothie so that each
smoothie size has only one price

C. change the price of the 22-ounce smoothie to $4.29 so that each price is
assigned to only one smoothie size

D. change the 22-ounce smoothie to a 24-ounce smoothie so that each interval
between smoothie sizes is 4 ounces



